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ﬁ“‘ﬁgﬁﬁﬁﬁﬁmﬁmﬁmﬁsmwﬁmam
T € ?

(B) w8, wd), ar, wef
(C) STadY, gy, ey o, TAT
(D) w1, wwan, ey, wmma

If ‘033 (x+ 1)=2, then the value of x is :

A log, (x+1)=2, qg x &1 77 & —
(A) 4 (B) 0
©) 2 (D) 3

National Games were organised in
Ahmedabad. '

(A) 37t (B) 34th
(C) 3sth (D) 36t
ST H UL el b1 At fear
(A) 379 (B) 343
(©) 359 (D) 36§

¥

The median and mean of 15, 17, 16, 7, 10, 12, 14,
16, 19, 12 and 16 are respectively -

15, 17, 16, 7, 10, 12, 14, 16, 19, 12 qer 16 @
HRAH TS Hrew HEsn: ¥ - ==

(A) 15, 16 (B) 16, 18

(C) 16, 14 (D) 15, 14

According to the India State of Forest Report 2019,
the state (Not Union Territory) having lowest
percentage of forest cover is -

(A)- Uttar Pradesh (B) Punjab

(C) Rajasthan (D) Haryana

sftear Re &is wite Fui 2019 & sgar a8 T
(b= it waer =8 et 9= &3 &1 GfieTd 7 g
% aEE - B

(A) STT WS
(C) Tsr™

(B) woma
(D) wfemn "

‘ If ‘CLOCK’ is coded as ‘342352 and ‘TIME’ as
‘8679, then what will be the code for ‘MOLEK®? | |

gfy ‘CLOCK’ @t ‘34235 &t ‘“TIME’ & “8679° &
pfed fsar 9, @ ‘MOLEK’ % g #is 1 gmyr 2

B) 72945 -

(A) 62495 (

(C) 72495 (D) 62945

Shree Kalraj Mishra is governor of
Rajasthan.

<§§ 44th (B) 39"

(C) 4oth (D) 41t g
oy el P, oA % 9 (A

(A) 44 (B) i?

(C) 40 (D)

10

11

12

o

Which one of the following a8eney undertook
)|

i — ibangan:
oo L s
(B) The Rajasthan JDiegjrmﬂent of Archaeolog,

s, Ja '

© e rremacalogial Survey of India, Ney

Do College, Pune
(D) Decc;ng o ia; R N
Frd 1 GaETIE G ? ]
(A) FeEr faafeemed, am%ﬁw _
®) (T g Tl EUerd a9, SEge -
(C) Wl quAe ada, fawt
(D) e i, oI

What is the smallest and largest font size available
in font size toolbar on formatting toolbar?

(A) 8 and 72. (B) 6 and 68

(C) 8 and 68 (D) 6 and 72

HEFET THEK § SUGE B HES q@EK 3 ST
AT T Smad B g HT 8 7

(A) 8 R 72 (B) 6 3T 68
- (C) 8 X 68 (D) 6 3fiT 72+
The sum of first 50 natural numbers is —
999 50 UThd WS @ et ¥ —
(A) 1525 (B) 1000
(C) 1200 D) 1275¢
Find the odd one out :
(A) C++
(B) ORACLE
(C) MYSQL
(D) MS ACCESS
fqu gi -

(A) i+ (C+)-

(B) #&wd (ORACLE)

(C©) i A wa R na (MYSQL)
(D) T uw uag (MS ACCESS)

What is the name of the antimalarial medicine
obtained from Cinchona?

(A) Quinine . (B) Atropine
(C) Cinchonine. : (D) Nicotine

fe “;‘“fﬁwqﬁ&maﬁwwmml
i . (B) wgrdm
©) R (D) Frafo
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Which activity is not related with the Draught
Prone Arcas Programme in Rajasthan?

(AX Poverty removal

(B) Soil and moisture conservation

(C) Water resources development

(D) Afforestation

ST ¥ g wivre 8 BT &1 G e it
RN

(A) T8 Frar
(B) T a i &1 gemr s
AC) Tw-gan a fawrg

(D) gamiaw

The centre of activities of Govind Giri in 1911

and 1912 was .

(A) Kheda (B) Idar

(C) Sunth (D) Bedasa

Mg fift & wiifafiet @ %= 1911 wa 1912
qrl

(A) @st1 (B) =t

©) gu

(D) J=a

For a light ray travelling from denser to a rarer
medium, if angle of incidence is equal to the critical
angle, then the angle of refraction is :

uq ¥ foR@ Aregq § T & Al el @ U%
RTu1 & o/ W19 19T @Yo, it BHIoT B T el
%, T8 STUEdT BV BT §

) Tsoe (B) 0°

(C) 45° (D) 90°

Who among the following Folk-Gods is also related
to snakes?

(A) Gogaji (B) Ramdeviji

(C) Pabuji (D) Mallinathji

ﬁﬂ%{f@ﬁﬁ%ﬂﬂﬁ?ﬂﬁﬂﬂﬁiﬁwﬁa%?
(A) TSt (B). THEsh
(C) drgsh (D) -Heiiesit

The wood of which tree is used to make cricket
bats?

(A) Mango (B) Acacia

(C) Willow (D) Teak

ﬁﬁaqaaﬁmwmﬂﬁmmaﬁnaﬂﬁ%m
fopan ot & 7
(A) 3™
(C) fawt

(B) w9«
(D) d&~

18

19

20

21

22

23

24

N el % arEr @d ST ol @ gefua
il 2

(A) %ﬁmawﬁ’(&ﬁﬁ’rwﬁflﬂ”{/

(B) =m ey wmfear At

(C) a4t gl epfy Y @A

(D) ¥ @ Iw @ U T@l

Fill in the correct article.

He is not honourable man.
(A) no article (B) an
(C) the (D) a

The similarity between Li and Mg is due to —
(A) Insolubility of their hydroxides

(B) Similar ionic potential

(C) High electropositive nature

(D) Similarity in the charge of their ions

Li 8t Mg % ¥ gaman @ ao & - ¥

(A) 3% TrggraTEe) @ orgwsiie

(B) wum amafvs fawa

(C) v= faga vy Wl

(D) &b G & AT H HHAT

Volodymyr Zelenskyy is President of -
(A) Ukraind

(B) Russia
(C) ‘Portugal (D) Spain
AT S Tl ¥ -
(A) g & (B) =@ &
(C) gdma & (D) & &

The Heading in a letter consists of
(A) The subscription

(B) Salutation

(C) The writer's address and the date
(D) The reference

eifeTr g ¥ B Wiy &7
(A) et dfy (B) w1 ®@fy
(C) 3y dfy (D) & dfu

Complete the following figure series :

frefefiaa sl e & qof @R :
SN4E 1K

>
@ | /TN

(B)

/N

A

© (D)
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27

If (x~2) is a factor of x* + kx> —2x—24, then
the value of kis- :

A 7 k? — 20— 24 F1 T TEE (v—2)F,

k&t gqe 3 =
(A) s ®) 2
©) = o s P

% 4

Through which of the followin ry&stricts of
Rajasthan, the tropic of cancer pasges?

(A) Jhalawar (B) Jalore “O

(C) Sirohi (D) Banswara)
ﬁwmwnwasm—%mwwmw
T 3 ?

(A) Ty (B) =it (O
©) & (D) vrEamsTe—
(49!

Who was appointed as the Rajpramukh of Greater
Rajasthan? O

(A) Maharawal Laxman Singh )

(B) Maharaja Sawai Man Singh =

(C) Maharaja Bhupal Singh

(D) Maharawal Chandra Singh

FEL TSI ol oo e Prgea Rt e ?

(A) wETUaw weuiiis A T

=)

- (B) wWeErtsT ward amfds fﬁ
2¢C) HeT R IGIGT k,g
(D) Werraw a=iis B
O
28 11 day eiposition of Holy Kapilv’é‘s"f!u Relics of
Lord Buddha was organised by Government of
India in - . - R
(A) Sri Lanka (B) Malaysia{
(C) Thailand (D) Mongqlia
WA gE F Ul sy saswi @ 11 ek
aSHT B AT A W D Ry o —
(A) dictem & (B) wifimngy
C ¥ D) wmifwa g
(C) ureivs (D) e 3,y il
29 Which of the following is a noh-i[&p ct printer?
(A) Laser (B) Daisy wheel
(C) Dot matrix (D) Dr'um"‘“:)1
T W B T AH-3R9 fiex QD
"(A) AT (B) =i o
1t D
(©) @i Afmm @) 7 »
30 RrRY v B Rig @R st ar S g 7
(A) Disorder (B) Discrepancy A
(C) Discretion (D) Dismiss.
. 1VVP ] 4

32

31

33

34

35

36

A ST T AHM 3 A H A ¥ -
(A) vsTaTad (B) frs=garas®
(C) Trraaras (D) freamEs

‘Vishwas Swaroopam’ (Statue of Belief) is statue
of

(A) Lord Shivaq
(C) Lord Krishna

(B) Lord Ram
(D) Lord Vishnu

Tagae wegy’ @7 i )
(A) wrEm i (B) WmE™ 1™
(C) ram Fw (D) W fwy

Punit goes West, he turns left, then left, again left
and then right and finaly goes right. In which
direction he is moving?

(A) West (B) North

(C) South (D) East

AT ufter @l ST et @, 9% 9wl ofiT gea ¥, e
I ST UE 9 YA 9 ST a9 o Sl SN Uy
s & qrlf @R Twar ¥ 98 few e ¥ s wr X7
(A) dfyem (B) s

(©) = (D) i

During whose reign did the Kishangarh style
receive an independent form?
(A) Raja Samant Singh

- (B) Raja Kishan Singh

(C) Raja Jagmal

(D) Raja Roop Singh

fres s @ & e S @ s wEy g
gar?

(A) T arElE

(B) ww=m fpsmiz

(C) =T sEEE

(D) T Euite

If 5t January 2020 was Sunday, then what will be
the day on 24% January 20229

(A) Wednesday (B) Sunday

(C) Monday (D) Tuesday

U%SW’&2OZOE€[T&WT(QIT,H}24W 2022
W Biar &g B e

(A) g

(B) fgar
(©) dmar

(D) #@eEr

If the length of a shadow cast by a pole is /3

times the length of the pole, then the angle of
elevation of the sun is -

u&@@ﬁmaﬁnﬁwﬁaﬁmwﬁﬁm

& A3 T, @ g w w g b -
(A) 90° (B) 30°
(C) 45° (D) 60°
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In normal conditions the number of WBC in
comparison to RBC in blood is

(A) changes now and then

(B) equal

(C) more

(D) less

IHIT: o H 990 ST Sfvwrel @ wear, @ oi
HTETS B e

(A) S9-T9 9e@ar & B b

. (B) =ws B #)

(C) <urar &t ®)
(D) =9 & )

Which fort is situated on the confluence of
Gambhiri and Berach rivers?

(A) Ranthambhore Fort

(B) Kumbhalgarh Fort

(C) Tadgarh Fort

(D) Chittorgarh Fort
mﬁ'&amémﬁfatﬁaswwaﬁﬁmﬁmﬁw%?
(A) TR foar ‘

(B) Fwerme femem

1C) =g fmm

(D) fuireTe fpe

“AB _BC _CA

DE-~ EF FD
then their areas are in the ratlo -

Ifin A ABC and A DEF,

_B
B’

A ABC @ A DEF % af AB _ BC _ CA
DE _ EF FD

T 6 AN BN FIAG B -
(A) 3:5 (B)*9:25
(©) 16:25 (D‘).r“5:3

e
5

If sin a:%, then cos o is -

afy sina=%, T9 CoSOL &I AH & —

V7. =, Sy
(A) e : (B). T

1 3
©) 3 (D) =

41

42

43

44

45

29

e o

cubic dm of brass is to be drawn into a
cylin(lrical wire ol 0.5 cm in diamelcr, then the
length of the wire is -

(A) 448 m (B) 56 m

(€ H2 m (D) 224 m
2zaq%mﬁrmaﬁ05@r¢rwm€sémmm
3 @W,w & o b T ¥ -

(A)\ﬁﬁlS o (B) 56 A
(C)\J12 (D) 224
o)

‘Pengdnga’ is a tributary of which of the following
rivers?

(A) Mahanadi (B) Krishna

(C)T,K;averi - (D) Godavari

T Preafefa el & @ frwe gems w8 27

(A)\ e (B) wm
(O)\Frdy (D) irarady -
=5

ChSose an appropriate translation for the sentence
given :

She“s%};fed money for a rainy day, )
X 7w F fog § T=m)
(B) (g =it % frg 44 sy
(C)ZFT WA ¥ I s=m)
(D) (A Tt &t ’ﬁ'ﬂ::'r ¥ S|
1
At the 681 National Film Awards on September

30, 9022 who was conferred with the Dada Saheb
Phalkel Award?

(A)(Asha Bhosle

* (B)“Waheeda Rehman

(C)l\A ha Parekh

(D)CLAta Mangeshkar

30 fiditar, 2022 # 68 ¥ T v el & ww
TES Eieh AR 4 68 wenfm fen mar?
(A)"“\mw RIGE

(B) (gfrar T
A
©) il .tni@
(D) F1r w3ThT
-]
Triplet code for inhibiting process of translation
is: A
is: _

B
AT Whar & T & A e B ¥
(A) UGG (B) AUG
(C) UAA (D) UAC

N [ Contd...




46 Study the following Pie-chart and answer the
question -

Pt urd orra @ areEad AT P W9T @ e E -

(Expenditure chart)
(e =)

A = Paper ' (&)

B = Advertisement (frsma)
C = Binding (arf<m)

D = Printing ()

E = Royalty (Iraw)

F = Miscellaneous (fafqe)

How much percent more is spent on advertisement
than that on binding?

,argﬁéqa%mﬁmﬁamﬁwﬁmmuﬁrsmmmgé
T %7 S ¢
(A) 10 B) 25
©) 9 (D) 2.8
47  Which of the following is not correctly matched?
(A) Right to Constitutional Remedies : Article 32
(B) Protection of Discrimination : Article 15
(C) Right to Association : Article 19
(D) Right to Protection of Life : Article 20
Fretfifad & & - w8 iR E 27
(A) Haufes Swarl &1 ST ¢ sge 32
(B) v & geam : ogdR 15 .
(©) du % fmiw &1 arfrre HIWT 19
(D) < &1 <& &1 after ¢ ST 20

48 ﬁmmﬁfaﬁﬁ:ﬁmﬂawﬁngm%?y
(A) Bz — ®ar (B) 1 — @iy
(©) Faa1 — paw (D) B = 4

49 FH-gol s ¥ g g
(A) i -
©) 34 - 7=l

B T ity &
(B) wdm — wify

(D) 3% -

S0 Which of the followin

_ g climate regions in
Rajasthan receives lowest ;

annual rainfa]]?

S2

53

54

-

55

56

57

(C) 45°C, Tin

In which year Desert Development Program wag
launched?

ey Ry edwe fhg a9 § 9 fRar T
(A) 1984-85 (B) 1977-78

(C) 1980-81 (D) 2001-02

The famous Pushkar Fair is held in which month
of the Hindu Calendar?

(A) Chaitra (B) Sawan

(C) Falgun (D) Kartik

TSI &7 Wig It e &g adim & i%mﬂr%rs 9
T & 7 .
(A) ¥

(C) WA,

Choose the correct Hindi translation of the word
given below :

(B) @ra=
(D) s

Registration
(A) Frm= (B) dfsta
(C) dsiraTm (D) - dfaan

What is the optimum temperature and catalyst
required for Haber's process?

(A) 300°C, Silver (B) 450°C, Iron

(D) 150°C, Copper

&9 whR ¥ Suga Ao oiR Sdue e stEd
BT E 7

(A) 300°C, fmat (B) 450°C, sma@

(€) 45°C, feq (D) 150°C, =®fux
Frefefed & & Fan o= woaga ¥9
(A) Fram (B) dsmae

(C) ar=rwor (D) d&e

Which of the following blood groups is a
‘Universal Donor’? .

frefefaa & & @en @ o o wdaar 1
(A) O (B) A

€) B (D) AB

Which one of the foll
retreating monsoon?
(A) February to mid June

(B) October to mid December

(C) December to February

(D) Mid June to September
iﬁﬁiléﬁﬁﬁaﬁﬂmwwmﬁmm%?
(A) &l & 9w o

(B) smzat ¥ g fagray

(C) RE=t & v

(D) @& 5[ ¥ Ty

owing times is the season of

[ Contd...
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58 In which year Chandrayaan - I was launched by

India?

Ihg ¥ § Wt |3 9w - | Brer a1 ?
(A) 2010 (B) 2007
(C) 2008 (D) 2009

59 An eye defect ‘Astigmatism’ oceurs when :

60

61

62

(A) the cornea is not spherical in shape.
(B) the image of an object is focussed at a point
behind retina.

(C) the image of an object is focussed at a point
before retina.

(D) the eye lens becomes cloudy. ©
i Shedvmr’ qa o= B & v
(A) e @ st et 4 &)

(B) Wa@wmﬁam%%%ﬁrﬁgﬁ
B B $1 :
(©) ma@wmﬁag&m%aﬁﬁmﬁg
W BT B ¥
(D) <= 9 Yuen & s ¥

Kwashiorkor is usually observed among children
in the age range of -
(A) 6-10 years
(C) 1-4 years

B) <‘1 year
(D) 4-6 years y

- FARETHI AR T = ¥ 39 g S A A
™ -

(A) 6-10 9% (B) <1

(C) 1-4ad )

(D) 4—6 o

In Powerpoint, two kind of sound effect files that
can be added to the presentation are -
(A) .jpg and .gif files
(B) .wav and .mid files -
(C) .wav and .gif files r. .+
(D) .wav and .jpg files® *
TrERATgE ¥ & T % WS THAT BIEW Ieey § el
S gl € -
(A), jpg @ gif ®rw
(B) .wav 9 .mid ®EY |,
(C) .wav T gif wrzd
(D) ,wav @ jpg wreel
v
Presently, the number of Municipal Corporation
in Rajasthan are :  *"!
T § TR § e Pl @ §e e ¢
(A). 10 “B) 6
€ 7 (D) 9

LVVP | D

63

64

65

66

On 301 October, 2022 a pedestrian suspension
bridge collapsed in the city of Morbi in Gujarat,
it was built on which river?

(A) Khari (B) Rupen

(C) Machchhu (D) Sabarmati A
30 SRz, 2022 @1 o & W M6 F ug daw
WA 9 3% T, 96 R T W G e ?
(A) @ (B) &4

(©) Wy (D) e

In the system of equations
hx+my+ =0
Lx+ myy+n, =0

of L M M s

if —=—#—_then lines represented by
L m, 1,

equations are —

(A) Intersecting

(C) Coincident

hx + my +_”1 =0

(B) Parallel
(D) Perpendicular

Lx+m,y+n,=0

S L AP R S VI

hL My 1,
% -
(A) i (B) FurT
(C) durar (D) wHeq

Which of following districts of Rajasthan is not
included “in the first phase of Rajasthan Urban
Infrastructure Development Project?

(A) Bikaner (B) Kota

(C) Udaipur (D) Alwar 3
T & ¥ ¥ e R @ werem il
eaTeg ferd wiaer T & yuw 9o | afufwd T8
fean &7

(A) dBmR (B) @

(C) weuyL. (D) et

Where is Maharaja Shree Ummaid Mills located
in Rajasthan ?

(A) Jaisalmer (B) Jodhpur

(C) Pali (D) Jaipur N
TN & SR Py TeRam ¥ @E REd € 7
(A) SEaH (B) @R
(C) urelt (D) A
[ Contd...
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How many characters are supported by ASCIL-7

coding system?

-7 (ASCII-7) e Rrewt § o

SERE |

(A) 256

©) 128 \O
i R

Preafirfae 3 fore are X oreia fean @ e B

(B) 356
(D) 512

68
m ¥ \O
(A) a% THYT & "l
(B) wfua @w @ ®1
(C) uu= ut @ <@ #)
(D) HU \ew 3@ W@ 2
69 Which allotrope of carbon is in the form of the
- geodesic cifqntle?
(A) Carbor .;Nanotube (B) Graphite
. (C) Diamopd (D) Fullerene ©
T B T ey Rt aw S e
(=
@@ R
(A) ®EH S (B) e
©) & (g (D) et
70 Which pro?ém helps the user to view different
* web sites nfthe internet?
(A) Search{e:ngine
(B) Syste %rogram
© Server-program
(D) Browser progtam k4
S-S g # et ot fuf v @ aw
TEZE @R qeE B & 7
(A) §d el
(B) faremtymm
(©) Wt it
(D) =St
Q v
71 The next term of the given series is -
& ol & TN T ¥ -
C,E H, I(Q, ?
A) X (B) U
OV o (D) W
\L ‘
72 A bagcon s ¥5,%32,and T 1 coins in the ratio
5:6:7. If th¢-fotal amount is T 220, then number of
Z 2 coins ifhe bag is - S
o O A 5:6:7 % eI ¥ T 5,32, 76 T 1 % faws
@A G AT 20, AR FT2 %
Ryl @ €@ ¥ -
(A) 120 (B) 30
(C) 35 (D) 60
1VVP ]

73 Objective of ‘Mukhyamantri Laghu Udhyog

74

75

Protsahan Yojana' is B

(A) Reducing economic incqya]nhes

(B) Establishment of enterpriscs "

(C) Providing new employment opportflmtles

(D) Both Establishment of enterprises and
Providing new employment opportunities

'g@ﬁmmwm'wﬁw%:

(A) anfife srgaara Bl FH BT

(B) SHHI Wl O BT

(C). T VoY Sy Y HLarT

(D)mma%vwmquﬂﬁmm
YA HIEHT QA

The Malpura-Karauli Plain is the part Ofcf

(A) Banas Basin (B) Luni Basifl
(C) Chambal Basin (D) Mahi Basin

© AEA-HAT A AT E —

(A) I AT @
(C) awd afeT &t

(B) T A B
(D) H=rEr afFT &t

Change the following sentence from the active
voice to the passive voice.

We expect good news.

(A) Good news was expected.

(B) Good news is expected.

(C) Good news should be expected.

& (D) Good news must be expected.

76

77

78

In the CD-R type of CD, data can be
(A) Only written once A
(B) Only read once
(C) Written once, read many times

(D) Written many times, read once

CD-R ¥&RX & CD 9T 21 &t [

(A) b & SR foar s wea ¥

(B) fof T 91 UeT W1 Gehar B

(C) ®2 A wer, X foh s A fran s Hebar ®
(D) fadh us WX 9T, W S wrv fan S waal &

Which of the following fungus is used in baking
industry? S

(A) Morels (B) Black mold o

(C? Yeast (D) Mushroom

AT S F B B B g e W 87
(A) Wi (B) <% A

(C) = (D) wetEm

HOW many times President Rule was implemented
in Rajasthan?

Wﬁﬁﬁrﬁraﬁ,wﬁrammﬁmw?
(A) 5 (B) 2
(€) 3 (D). &
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y



79

80

81

82

Which of the following blood groups is universal
recipient? >
Prferftae % & -1 T W AR e ¥
(A) AB* (B) OF '

© O (D) AB-

In a pond eco system, food chain startsl“ébigth -
(A) Small fishes  (B) Phytoplanktdn |

(C) Zooplankton (D) Aquatic insé‘rc‘:i_t\s':e.
arere miRefe = ¥, @ gEe g E § -
(A) A TR G (B) awwEE

(C) igwas & (D) aﬁﬁuaﬁz@r::

A sum of money doubles itself with simple interest
rate in 12 years. In how many years would it treble
itself? : bt

(A) 36 years (B) 18 years ('

(C) 24 years (D) 30 years ;“'-(‘;;

af g wraln 12 98§ aee aw @ ad g
2 W %, o @ AR feay aut F R ent e

(A) 36 ad B) 18=d/ T
(C) 24 =9 (D) 30 a¥ NS
Go through the following poem and at{s;v!er the
question given below : ;\{:')
O Rose thou art sick, \& 3
The invisible worm, . =y .
That flies in the night 'r: {
in the howling storm .
Has found out thy bed )
Of crimson joy; '/ o

And his dark secret love o
. " A !
Does thy life destroy.

B

A 4
According to the poet, the main idea of &eﬂ poem

1S :

. (A) The beauty of the Rose is immortaq.“ ;

83

1IVVP ]

(B) The poet praises the secret love of the worm.
(C) Wicked people win the battle.

(D) Innocent are helpless, they suffer an'd%‘ive up
their life. r={
Y

Choose the correct direct speech of the following
sentence from the options given below 5L
He ordered them to lock the door. g |
(A) He said to them, “Lock the door. =1

(B) He said to them, *““Please lock the door.”

(C) He told them, “You locked the door.”
(D) He tells them, “Lock the door.”

84

85

86

87

89

88

Which of the following converts source program
into object program?

(A) Anti Virus (B) ALU

(C) Control Unit (D) Assembler %
T Y P T S qu F e N ¥ gged
z7?

(A) & e
() w5 ghve

(B) ALU
(D) SR

Choose the words which are nearly opposite in
meaning to the underlined words :

Opaque
(A) Transparent (B) Cloudy
(C) Hazy (D) Blurred

Three numbers are in the ratio of 2:3:4 and their
average is 39, then the smallest number is - Y
T HEad 2:3:4 % orurd H ¥ qu o of|a 39 §,
dql 999 B @ ¥ -
(A) 52
(C) 26

(B) 13
(D) 39

Which one of the following types of medicine are
used for treating indigestion?

(A) Antiseptic (B) Antibiotic

(C) Analgesic (D) Antacid ¥ :
P § @ fpg waR 91 Tagal o9g & FRE A @
T 2 2

(A) e
(C) drswrd

(B) g
(D) o=@

Punett square is used in the study of :

(A) Genetics (B) Cell Biology
(C) Bio-Evolution (D) Photosynthesis
T 9 ¥ T fae e B ¥

(A) erafemE (B) wifyre strafasm
(C) ¥4 TawE (D) wapTgT-HeA T

The Jaswant Thada of Jodhpur was builtby .
(A) Maharaja Jaswant Singh II

(B) Maharaja Sardar Singh

(C) Maharaja Hanuwant Singh

(D) Maharaja Ummed Singh K
e % wEdd ggra P
(A) WeErT SEawe fEd
(B) WETUST qLETIRE
(C) weTUST ga=itis
(D) WETST SHERiE
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90  Which of the following exhibits non-metallic
properties? 4
P & & @ @ oeRas o geRia B §7
(A) Mo (B) Al
(C) Be * (D) grey Sn

91 The Panchayat{ Raj system in Rajasthan was

inaugurated under which of the following five year
plans?

(A) Fourth (B) First

(C) Second (D) Third =~ &
ST ¥ Tl T e & AT e daadt
d & oia fem T ae

(A) =gd (B) wum .
- (C) T (D) g :
92 What is rank of India in 'Climate Change
Performance Index (CCPI) 2023'? .-
(A) gth (B) 6th'l-: R
(C) 7th (D) gth -
serarg aftadq wael gasis (CCPI) 2023’ & wea
@ Y /Y
(A) i (B) wd
(C) (D) aredt
93 Which one is not view option in PowerPoint?
(A) Slide show view
(B) Outline view
(C) ' Normal view ol
(D) Slide sorter view o
T A DA GadEe ® F fqheq T ¥ 7
(A) WSS o7 i
i) SIS B .
(O et =
(D) WIS X 7 |
94 In which one of the following civilizations bricks
were not used in making houses and colonies?
(A) Ganeshwar (B) Nuh
(C) Kalibangan (D) Pilibanga 6
frefofag ® @ fow @0 ¥ smamg wd afawi s
¥ €Y @1 wdi TE e av? .
(A) TUgET B) T
(C) wresm (D) dreem
wvve] [

95

96

97

98

929

10

-(C) 1 April, 1973

‘The Adaptation Gap Report 2022’ is published

by -
(A) BRICS

(B) World Bank _
(C) United Nations Environment Program

D) World Economic Forum

f_q_ )q%ﬂ%sm 7 Rard 2022" & JEeTwHAl € -
(A) forerg
(B) fasw ¥ :
(C) wgF T ThiaTT CAPEL
(D) fagg ¥ Ha

When was ‘Tiger Project’ started in India?
(A) 1 March, 1972 (B) 1 March, 1973
(D) 1 April, 19729
g o 9 UREEr B Wi @ Mg Y ?
(A) 19, 1972 (B) 149, 1973
(C) 1 e, 1973 (D) 1 a¥«, 1972

A geostationary satellite revolves approximately
at what height and in which plane?

(A) 36,000 m, polar plane

(B) 36,000 m, equatorial plane

(C) 36,000 km, equatorial plane

(D) 36,000 km, polar plane D

& -Rex guwE @ R S uw 9 Ree aw A
T HAT & ?

(A) 36,000 %, gy aw

(B) 36,000 =, wpremi@a aw
(C) 36,000 feorft, e aw
(D) 36,000 frdt, gy @

When an error of 1% is made in the length of a

Square, then approximate percentage error in the
area of that square will be -

OF T Y T § 1%@%&%,@@%%@%
ﬁﬂﬁ%ﬁﬂ%m‘ﬂﬁlﬁﬁmwﬁ? '

A) 4% )

B) %
©) 1% (D) 2%

N;me the Pratihar ruler who not only checked the
advance of Arabs but also liberated several rulers

from their yoke.

Eé; Nagab-hatt I (B) Nagabhatt |

3 Deoraj (D)A Vatsaraj P

oy D B AH T 6w 7T Fawr sy 3
. wwsrmaﬁmm,ﬁwﬁﬁm

(A) stl%? Gk ‘

© g i
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100 Which lake does not exist in Nagaur district?

101

102

103

104

105

IVVP ]

(A) Raiwasa (B) Didwana
(C) Degana (D) Kuchaman
AT R A el st Re sl %2

(A) Y@ (B) e
(©) ¥ (D) Fam
In which fort is the Sheela Devi Temple located?

(A) Kumbhagarh (B) Amer
(C) Achalgarh (D) Mehrangarh
faren 3 &1 wf frw fedt & orafuq ¥

(A) g=™mTe (B) ‘amix
(© TS (D) AEwTTe
Second highest peak of Aravali is —

(A) Taragarh
(C) Sergarh

(B) Gurushikhar
(D) Achalgarh ©

HUAE D TE gEY HAT ARy E -

(A) drwTe (B) TeRmE

(C) @m (D) s

When the post of Lokayukta was established in |
Rajasthan?

UM A THgad & U8 & Gord ga an?

"(A) 1973 (B) 1992 =

(C) 1977 (D) 1982

Virtual and enlarged 1mage of an object can be

obtained by :
(A) Concave lens (B)« Convex mirror

(C) Concave mirror (D) Plane mirror

ford a5y ® SHEl @ ﬁﬁrﬁiﬁ gfafss ar fear
THT T

(A) oEdd @| &
(C) oraad U &

(B) Wﬁwm
(D) wwaw 49T g

What is the famous “Baadla” of Jodhpur?
(A) Pomcha | '
(B) Wood Temple
(C) Water container made of zincﬁ,
(D) Zari Saree

SlUgT & Wig Career’ fre F @ @E?
(A) g 17T

(B) &<t @ ufer

(C) 9% & &1 gy &1 g

(D) wr&r [y

| e Y

106

107

108

109

110

11

PWT{F{%—

Genes which code for a pair of contrasting traits
are known ag -

(A) Monohybrid (B) alleles
(C) F, generation (D) Genotype
faalia @emol ¥ whas ol NS B

T
EicI
(A) THd Hat (B) e
(C) F, 9 (D) T gy
Trench Commission was formed in the context of

which peasant movement?

(A) Bundi Movement

(B) Begu Movement

(C) Bijolia Movement

(D) Alwar Movement 18
ferw fopem o= % et & Yu s @ e e
T ar?

(A) 9 s

(B) 37 srer

(C) fasifaan amrem

(D) HHaT AR

Value of 16129 is -

127
(C) 133

(B) 117
(D) 123

The highest peak in the Eastern Ghat is
(A) Gurushikhar (B) Anamudi
(C) Dodabeta (D) Mahendragirip

off e & warer Rrae ® -
(A) TofirEt (B) et
(C) Ixma (D) W=hiY

Which of the following is the first coal based
electricity generating power plant of Rajasthan?
(A) Suratgarh Thermal Power Plant
(B) Kota Super Thermal Power Plant
(C) Chhabra Thermal Power Plant
(D) Kalisindh Thermal Power Plant

P § ¥ BIFET ORI B IEAT BT ST
IqrEd gaw §7
(A) GG A el HEN

s

- (B) @I gW AU Sl g

(C) w3l A Tul HUH
(D) wreifay i Sul T
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100 Which lake does not exist in Nagaur district? 106 Genes which code for a pair of contrasting traits
(A) Raiwasa (B) Didwana are known as -
(C) Degana (D) Kuchaman (A) Monohybrid . (B) alleles
TR R ¥ B e R e X7 (C) F, generation (D) Genotype
(A) Yarar (B) Srsar ﬁmﬁgaa{vﬁ%ﬁmrﬁrﬁﬁ%ﬁ_-_m
(C) I D RIS
&g (A) T ww (B) T
101 In which fort is the Sheela Devi Temple located? (C) F 9 (D) RIS
(A) Kumbhagarh (B) Amer ,
(C) Achalgarh (D) Mehrangarh 107 Tre.nch Commission was formed in the context of
R ¥ @ e Frw B3 % orafior 3 7 which peasant movement?
(A) FomTe (B) -9 Eg; ];:gdnr\l/\[/lovemertlt
TS u Movemen
© . ; (D) #Ewe (C) Bijolia Movement
102 Second highest peak of Aravali is - g; %‘;agﬂl\g;?:ﬁ ¥ ¥a e B T %&
(A) Taragarh (B) Gurushikhar T o ?
(C) Sergarh (D) Achalgarh = (A) Tﬂ 3
UGN B T gIQ SHAr 9 T 3
(A) TS (B) Tafirax 3 3
© ﬁTﬂE. D) (C) fasiifwan amre
' Pl (D) AT =R
103 When the post of Lokayukta was established in
Rajasthan? 108 Value of +16129 is -
mwmﬁfrﬁzﬁrgaﬂmqaaﬁrqm?r@anm? 16120 &1 Wi & —
‘(A) 1973 (B) 1992 . v:)/llm (B) 117
(C) 1977 (D) 1982 (C) 133 (D) 123
104 Virtual and enlarged image of an object can be | 149 The highest peak in the Eastern Ghat is
obtained by : . (A) Gurushikhar (B) Anamudi
(A) Concave lens  (B) Convex mirror (C) Dodabeta (D) Mahendragirip
(C) Concave mirror (D) Plane mirror o a1 & wdier Rrat ¥ -
Pt g 1 v % raffa A SR ) e (B) s
aHar ¥ - (C) Zrrm (D) weffY
(A) ore d@ g (B) I QU AT
(C) oraaw Tior grq (D) ¥ i 110 Which of the following is the first coal based
electricity generating power plant of Rajasthan?
105 What is the famous “Baadla” of Jodhpur? . (A) Suratgarh Thermal Power Plant
(A) Pomcha e : (B) Kota Super Thermal Power Plant
(B) Wood Temple (C) Chhabra Thermal Power Plant
(C) Water container made of zinc ¢, (D) Kalisindh Thermal Power Plant
(D) Zari Saree e & § BT TR B GEAT BIEE ST
Suge &1 TR f%rwrﬁ@rw%? ECIERCRER X
(A) drn o (A) T T T T
(B) w&el &l ®fegw (B) @1 gU ardrd Sl gGw
(C) W & 9 TR & qH (C) ©asT aMda Sl wu
(D) =& = _ (D) @ity ad Su s

IVVP | 1




111

113

114

115

wvel [

Choose the correct Hindi translation of the
following word from the given options :
Domicile certificate ‘

(A) S=7 wwror O

(B) wg wwmor qx

(C) ey war o

(D) A& framd wmor o=

When the liquid is spun rapidly, the denser particles
remain to the bottom and the lighter particles stay
at the top. This principle is used in - '
(A) Filtration

(B) Centrifugation

(C) Fractional distillation

(D) Evaporation

B 7 21 3 A o T B, e
qUT T HU S @A & | 39 TEid & wan R
EIGUR I

(A) Tredea

(B) = §

(C) wrifare omaaa

(D) arsdreRer |

Which of the following formula in Excel is correct
to find sum of cell A1, A2, A3 and A4?
frefifiad & & rEn gE BT Al, A2, A3 &R
Ad & 1 A @R B R ad B

(A) =sum (Al — Ad)

(B) = sum (Al to A4)

(C) =sum (Al; A4)

(D) = sum (Al : A4)

Ebony trees are found in forests.
(A) Mediterranean '

(B) Tropical Evergreen _

(C) Monsoon Deciduous &

(D) Conical Evergreen
waeh g @ e

The slope of the line joining A@B,7)and B (-2, 1)
is -

farg A (3,7) T B(2,1) 4 frm ah Xav @
A & - y

116 Which language (dialect) is spoken in Bundi ang
Kota area? .
(A) Brij (B) Bagri
(C) Mewati (D) Hadauti
(G e i A R A oh §7

11’}\' inku sells a table of costing price T 840 to Sonu
dnd carns a profit of 10% and Sonu sells it fo

Rockey at loss of 5%, then what would be the

final selling price of the table?
r—ﬁq?&wmq\wwmzﬁr 10% % @9 ¥ 6y

% et & o T g U B 5% B E A
8| 3w 1 oife famed TR w0 A ?

A T924 (B) T 877.80
“(c) T 798 (D) ¥ 837.80
5/
118 Total number of Gram Panchayats in Rajasthan is:
YT # AT G B He g
(A 13,443 (B) 10,890
§C) 12,560 (D) 11,283

119-Who is the first woman Director General of
~National Council of Applied Economic Research
(vof India?
(((A) Shobhana Bhartia
(B) Poonam Gupta
-(C) Renu Sud Karnad
. C"(4])) Shyamala Gopinath *
"o % 9 HOTE (G TWIES IHAE [(ad bl
- e Afee WETHALTH BT T 7
“A) g sRiaEn

"r;\ ) T AT
CA(0) T g WS
1‘-v§f‘D) ST AT
Nyl
120-Choose from the options given below one word
“for -
"Someone who walks in sleep :
(A) Termagant (B) Philogynist
({{C) Somnambulist (D) Recluse

121 (}\)rabha Atre (Padma Vibhushan Awardee 2022) is

t {r‘elated to which field?

“{fA) Indian Classical Music

\{{B) Sports

(C) Space Technology

(D) Social Work X
T @ (as fer Qe fasian 2022) few as @
i ¥ 7 Pr

@) 2 ® > (A) W el
7 i (B) aw -
6 1 (©) sinfer Sehfrl
© 3 I (D) g
L2 [ Contd...



122 Where has a multi-product SEZ been established
by RIICO in collaboration with Mahindra Group
in Rajasthan?

(A) Jaipur (B) Neemrana

(C) Kota (D) Jhalawar o

qt A wftsr 0 & e § o § FE AGEAR
A Ty fpar &7

(A) g (B) S :‘2
(©) = (D) weETs a8

he & . ., . . L4 ‘l _} :
123 Jaundice is a condition in which accumuleﬁB" of

occurs in blood. -
(A) albumin (B) globulin -
(C) hemoglobin (D) bilirubin L o=

qferar ge o Rufy & e @ o &

T9g & S &l Lo
(A) uegfm (B) ighm =
(C) rraifa (D) - fefrefim f‘;"’i

N S

124 What was the growth rate of gross state domestic
product of Rajasthan at constant (2011-12)_prices
during 2021-22 as per Economic Review-2021-
227 Q
anTiies Tt 2021-22 % SgET 2021-22 ¥ e
% R (2011-12) HHal 9X Toha o9 TG IA@IE H
ghg @ s &r @ ? o0
(A) 11.04
(C) 3.2

(B) -5.2
(D) 6.04

125 Twang sector is situated in -
"(A) Uttrakhand 'Y
(B) Arunachal Pradesh
(C) Assam N
(D) Sikkim by
o dr fRerd & - |
(A) saTETs A alp
(B) ereumad Wed H
(C) orw

(D) faferpwt &

1066316 1066

126 Air Marshall Shaikh Abdul Hannan was chi%’_%u
at Graduation Parade of Flight Cadets. He
(A) Iran (B) Afghanistan
(C) Bangladesh (D) Malaysia
TR A 9 et s AR HSCH A

0o

e ¥ gEr ahfy &1 3 E - =
A) f (B) s §
(C) iy & (D) wefmar ¥

1VVP ]

est

1S 1rom-

Weld
i

127

128

129

130

131

13

A wire is in the form of a circle of radius 98 cm.
A square is formed out of the wire. What is the
approximate length of a side of the square?

(A) 156 cm (B) 148 cm

(C) 152 e¢m (D) 154 cm
qmarr%ﬁmameﬁqﬁammmr%lsﬁma
T W qar ¥ o @ O Y B @ e
Y

(A) 156 &
(C) 152 ¥y

(B) 148 @I
(D) 154 @I

The purpose of run command in start menu is to—
(A) Open System Lock

(B) Launch Internet Browser

(C) Start Programs #

(D) Search File

e A ¥ 7 wHiS B B T -

(A) fowew @l @re

(B) 3T WEW g@M!

(C) W AT &

(D) wrEe g

Which day is celebrated as ‘National Unity Day’
(Rashtriya Ekta Diwas) in India?

(A) 8t October (B) 15™ January

(C) 4™ December (D) 315t October

fore Rt Y wta § SR weben fa®’ &6 w9 H AT

qrar & 7

(A) 8 TET @l (B) 15 sadr &
(C) 4 Rt @ (D) 31 efazat @
The high grade coal is - P
(A) Peat (B) Anthracite
(C) Bituminous (D) Lignite
SO 4O @ BE § - o
- (A) W (B) Trerarsz
(C) forgfira (D) ferrmge
The name of artisan associated with blue pottery
- Jaipur is :

(A) Abrar Ahmed  (B) Rajesh Godha,
(C) Anuradha Jangid (D) Narottam Jangiﬂ&
=g Wl - SR ¥ gEhud Riae o W o
(A) =T ETg (B) rotgr e

(C) oguen wiis (D) 7w Wit
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1ber of the State public Service COmmisgi()n

132 Which of the followit i
‘ 2 12 string ing i e 37 A men
known as “Bheri™? g instrument is also | 1 i b removed by the _
(A) Pungj « (B) Banki (A) President on the basis of impeachment j,
\ya Parliament. o :
(©) Bhungnl (D) Mashak ’ (B) Governor, after the inquiry conducted by
P & & fow o s @) W oy ey i 7 High Court. -
A) Tﬂ (B) ifepay (©) President, after the imquiry conducted by the
C) v Supreme Court.
( US| (D) wws (D) Governor on the basis of impeachment in the
133 ¢ - Legislative Assembly. ©
RESEIEEIN G mmwmé;wﬁwémm
(A) s=EivE (B) w4 % : ‘
g Hepdl & - :
(C) W (D) = (A) gug % q‘é‘lﬁm ISIC| a’_ ded “5 lié' % ET{T
» _ | ' (B) mmﬁ%sv'ammwiwia‘w
134 Nq : o =i e %, g0 AT A & W F qe
4 N}:me the river ﬂowng through Bikaner district — 23 FyeIT T & HET AT T & TEq T gy
(A) None of the river (B) Kantli
- (C) Mantha (D) Ghagghar 138 Omaments of. ‘Tarkashi’ are famous of which
THER e & weld @9 a9 & A - A place? f v
(A) B & =& B) e | (A) Udaipur (B) Nathdwara
(B) : (C) Chittorgarh (D) Barmer "
(C) #= - (D) =T : ey % e (SeR) few T % e ¥
(A) SETY (B) wmaard
135 State Human Rights Commission submits its annual (C) fadieTe (D) =T
r;f)or; :10 : : Lon e 139 Who is the current chairperson of the National
(A) \‘-’OC&te General of Stfite gy Commission for Women? (ASFOI] 18t December
(B) National Human Rights Commission 2022)
(C) High Court A, by (A) Mrs. Rekha Sharma

(B) Mamta Sharma

(D) State Government
R gﬁa (C) Lalitha Kumaramangalam

oy b 3 (D) Dr. Girija Vyas ®
L : TSI AT SR I aaH ereqe B © ¢ (18 et
(A) Tod & Fefmar A 2022 % SER)
(B) ULy Aa @R @M B (A) At @
(C) S=a <EEd &l . B o (B) wHaT ™t 1}‘.’-’
D) 9 §@R & v (C) wlerar FRIEHTH
o , oy (D) si. firfen =
136 L+ M means L 1s the brother of M ‘ 140 Compl'et-e the senténce by choosing the correct
L.—M means L is the son of M. preposition from the choices given below :
L = M means L is the wife of M. \Xhatbs the time _ic - your watch?
L x M -means L is the father ofﬂM, J ECg aty _(g) in
then which of the following means R is the mother (D) on |
of 17 e 141 Agni dance is performed by the men folk of which
L+M @ ot L, M @1 wg ¥ sect of Rajasthan?
5 ’ 3 : (A) Bishnoi Sect
L-Mw o L, M= 3 (B) Dadupanth
LM o LMA wh & (C) Jasnathi Siddha Sect
L xM @l ard L, M =1 R 3, (D) Ramsnehi Sect Fy :
a‘rﬁqﬁ«rﬁaﬁﬁﬁmg&%ﬁsR,Taﬁw%? m%%ﬁw%mwmaﬁqwm
R+A+S"T (B) R+AxS+T J _
4) ~A+SxT (D) R+A-S+T E(A:) fazre Q| (B) 3rguy
© R | ) v e W (D) Ty e
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' (3 v
g ¥ Rl =i a1 StirRTL @l HSf MY TS HT S

The diameter of a sphere is 0.7 cm. From a water
tank, 3000 sphéres completely filled with water is
thrown out. The volume of the water thrown out

. 22
is | where n===
7

(A) 430 cm® (B) 539 cm?

(C) 530 cm? (D) 439 cm3 7
T M & e 0.7 0 ¥ 1 g iy @By <ol & 3000
Mot PF &9 § TR Gt 9rel e s ®, @ §rel

ﬁmﬁaﬁﬁwm%(aﬁﬂ=%‘z)
(A) 430 =7 I (B) 539 =9 i
(C) 530 w1 ¥ (D) 4;9&#%&!

Who among the following was nominated as a
representative of Rajasthan in the Constituent
Assembly of India in 19467

(A) Mohanlal Sukhadia

(B) Vijay Singh Pathik

(C) lJivraj Narayan Mehta

(D) Heeralal Shastri 2 o
Preffad & & @9 1946 ¥ W 1 wfer
T § oA % Sty & w9 ¥ S 6l T A
(A) HiETaE gansdn
(B) fasrafts ulus

(C) ST A Jgdl
(D) e S

:’j.(—., it

T oY UT S WO SeN S ¥, 9% wEd ¥ -

(A) FTERE (B)" aieas

(C) fasfa (D) Ffeen

Rayé moving parallel to sthe principal axis of a
convex lens after refraction passes through :
(A) Centre of curvature

(B) Principal focus

(C) Undeviated e

(D) Optical centre

TEr S % WHMR o A fepet v ?ﬁr q
aTqad % 9eE ore ¥ 5,

(A) ThaT HR ° o
(B) y&HA wHE G & s
(C) omfafia

(D) WaIfiH & o
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(A) oidugr (B) er@r ‘

(C) orxiwm (D) st

Hemang Jaiswal of Rajasthan is p|HY_C" of

(A) Weight Lifting  (B) Kabaddi

(C) Judo (D) Boxing P
T ¥ R o e ¥
(A) W (B) ®aE

(C) v (D)

In which Legislative Assembly Sumitra Singh was

choosen as the first Woman Speaker in the State
of Rajasthan? : fiit B
(A) Thirteenth (B) Tenth

(C) Eleventh (D) Twelfth .
g R, o e @) dee Aeer fET w@w
e i A faam A § 57

(A) Tt (B) w@dl

(C) warEd (D) areEdl

Fill in the blank with one of the correct options
from the options given below.

It's time they . working on the project.
(A) would start (B) started

(C) start (D) will

Which of the following statements is not true
regarding Rajasthan State Human Rights
Commission?

(A) The chairperson and other members are
appointed by Governor.
(B) It is a multi member body consisting of a
chairperson and two other members.
(C) The chairperson should be a retired justice of
Supreme Court. ;
- (D) Other members of State Human Rights

Commission can be a serving or retired judge
or magistrate of High Court or District Courtg

Frafafaa 3 ¥ & 1 YT TSI T99 qEERIER

AT 6 W N gE T ¥

(A) remE 9 o wea@l & Prghe T gma @t
M :

(B) U U g g e ¥ fad siemer @ o o
e B ¥ '

(C) sy Soaaq g & Yanfga =i
B L

(D) g 959 I=9 ANy Sudl e aaed &
mErher s Az & s @ &) B
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